	CER Rubric (10 pts total)
	

	______ 4 pts = CER attempted
	Incorrect elements

	6 pts = all elements of a complete CER present
	______ Did not have a claim or correct claim

	5 pts = one item incorrect
	______ Did not state a claim without using possessive pronouns, “I”, “we”, “my”, etc.

	4 pts = two items incorrect
	______ First piece of evidence did not come from provided data or was not specific

	3 pts = three items incorrect
	______ First piece of evidence was missing

	2 pts = four items incorrect
1pt    = five or more items incorrect
	______ Second piece of evidence did not come from provided data or was not specific

	0 pts = CER not attempted
	______ Second piece of evidence was missing

	
	______ Improper use of evidence / evidence is not relevant

	
	______ Did not use complete sentences or proper grammar.
______ Used proved/prove
______ Reasoning is incorrect or incomplete


CER Rubric (10 pts total)

______ 4 pts = CER attempted
Incorrect elements
6 pts = all elements of a complete CER present
______ Did not have a claim or correct claim
5 pts = one item incorrect
______ Did not state a claim without using possessive pronouns, “I”, “we”, “my”, etc.
4 pts = two items incorrect
______ First piece of evidence did not come from provided data or was not specific
3 pts = three items incorrect
______ First piece of evidence was missing
2 pts = four items incorrect
1pt    = five or more items incorrect
______ Second piece of evidence did not come from provided data or was not specific
0 pts = CER not attempted
______ Second piece of evidence was missing

______ Improper use of evidence / evidence is not relevant
[bookmark: _GoBack]
______ Did not use complete sentences or proper grammar.
______ Used proved/prove
______ Reasoning is incorrect or incomplete


